February 17, 2022

Math 125
Spring 2022

Lecture 4

?&v'\ew oS last leckure .

Consider the ‘5mg>k below:

I Ddomain -9, 33
“ Q 2) P\m\ae io ) 61
\‘5

53 7 3)Youchon by VLl
l 4) Y-iak (0,0
5) XTaks  (0,0), (3,0)




February 17, 2022

CQ\\SQC\Q‘— The %fax‘)\f\ below
1) Dowain (—6,5_]

DHRange -3 6]

3)0 v o\ ?
By

9 Xk (03) €)X-Twks. (-4,0Y, (‘2/0),(3,0)

Conoider The %V‘o\.‘)\\ blow
DDomain -4, 6)

Mownge (-3,5)

E)) S’Unc*{ow or

By V...,

L\) X -1nt 5) X-1t
(O>) <~‘1) O)




February 17, 2022

in  tnear S\JV\( Y '!\oj\"od‘\'a

e S)=mx ab  S0I=9
xso\\;\ ‘ -39 -4x 415

Y
DN NX-14d y- 22 303
(0r5) NOE Ax-5
3
2) W = ‘*—3
%) Byvow “4

9, “5\)

%—Q“Q"\ DX -\e_a = %

) wrive tn W near S\W\d‘\'ov\ notaliow,
2= - 5x 13 §O)- 2% +4

‘A; ———ZX \%
&\ \{‘_S—”(\& (0;"\3
3) Slope m: ‘g \

1) Dvaw

v




February 17, 2022

Croph  S09= [ x43 ond =X i
he SW\:I@O(A:MR Sy Stew, tv'm:i

3
Nt (9 0)

Sex) andh QU0

Qwe

\"1“‘\" (0)3’)

pLI PecpenMicoliV
® — - — = pach (v
TR i codn Othey
EORISTEN
N

How fo evalvate Sunckions Sor o Diven Vedye!

V) Replae X with  Qiven Velve
2) S'\m?\\g‘{
o, Gotven S): %?{—L\

gi'\A -
NO -4 (O Q)S(e%): () -4
X0 ~ 014 X=b = 2:2Y
l\'\'-L\
ey et
?) S(;I?s) = 2
v 2 2(A) M

=24




February 17, 2022

Sb«) =% 4%
Sh\c)
DINO RS Q) S(aS:f %
~ O—\% =Q ‘\%
DR CONESE DI, .
- -5 ‘\% ; ('X) A
5 8]

S0z - uy
) $(9) - o -4(0) DS 44w
- 0-0 Vb—lb
-10) -0}
3) ()= (4 -4 4 $(x12)
- 16 «\6 :(’Xfe)a —H (% \‘3\
-33) - (xR)XR) H(2)
SR HES
e




February 17, 2022

0\)\@*
- —$p 0
% .

Do‘m\jta,s,sk 'RQ%QZSLG,\O E

Fonchion or ? (%lO} 5, <6/€ .
(YIRYRN\

Same is\‘w’\r ouVpuls

S)= A2
XY
5-5 0
D) $o): Oﬁ @ 2)S(®): 22 .2
oo
Now o ’@
_5__5
S 986 22

NownEevo ~\0
iunéegw‘neo\ \fr Zeyd - m




February 17, 2022

GPexo#\‘ov\b with  Fonctions:
D) Addton:
(S0 = $) v 409

& ()= 2x -

Bad (S0 =509 S0

2) Solhmackion:
(5 -9)0) = $6) =30

Ao SOV- X vk, B0 3x-2

Fad (S -9)09 = 509 —3K)

Q()=X+5

2a(3) ) 2 -2

. 46 - (3%-2)
- X60)3x §2)
:




February 17, 2022

3) Mutkiphedion:

(S T})D‘)‘- NORD)

So\\'c\
At
ev. S(x)- axa3 , 0¥=x4

bl (5 e9)= $6)- 909 (2% 42)X-4)
. 00% —Rxadx —12

XQ‘X — 5% na[
4) Diviston®
(“)(X ix—) ; 9030

& S(x):=%+1 %)(x)-?c-B

Stad (—%}b‘): 50 [ x41] ; x-340

) [ Sy

C»wm S&x): X6 %(x):?(—é
Rnd

= §6) + )
MUCETIL | M‘;\ ¢ 5

5y (& -0 $0) =)
- xvb — (x6): ></+6—X+6 A1)

2) (S %))(*\ S(x)e g(x) (X%)(x 6)
- %L Ex ek — 36

9 (HN- 3 A0

(O3
d ) X460 1 %640
x—6 X+6




February 17, 2022

)
Sed (§ AN 3G v Q(3)

= D% (-2) :

Sind  (5-2)@) = 303) _9(v)

Siad (S )(2)=5(2)- 3D =35 5]

P(Q(e— WhSe S\)ﬂd‘fovxs

S\mc'\‘\‘cm o Aegiﬂecx \Da Preces.

e WS X <0 Sif\é

S(x): l\i(‘,‘ﬂ .2(-5)
o S X230 Siad
% S(5)= 5 125

$¢9)- 0 =10}




February 17, 2022

xS S x<0

Y-
fx b S x>0

S‘it\c& .
S(2) = 5(0)=-(0) 3

=281

A linear Sunckon  Contaans (0,3) ond (5,6),

o\\\A Siﬂc\ W
ew\)o:\‘iovx i

\tnen S achion motidim
N




February 17, 2022

Gumph St (5% +3) - 30X
- (5% ¥3)OX 4>) —30X
_Qux” 415K $5X A — 30

% 25%° 4 \

v
rod
Vockor COW\P\Q"\'Q\“(‘. x- —%x —30
O —_—
e - (x +5)(x - )
2 10
6,5

ZQ\"O - Yockor  Pro ‘)Qf\'\( .

& Ned =0, then HA=D or B=0
( Maygbe boﬂ\)

Sole \?c—%‘>('>< +5) -0

Byy £8P
x-2%=0 oR Xxvb=0U

X x=$ | | %=-5)
Selshion S€¥ .3’3}




February 17, 2022

Clhss Q@QZ 3

Write  2x —HY=10 in g\o?e-xﬂt Form then
Ci\m?\\. Give S\ope s N-Tav ¢\

3x—9oY= \0 %\o?e ™M= ?";_
_563 -3X 510 X-wk (Orl)

3 0

3 = 3?( Y 5

<E —%x~2

|

e,

|

1=

3

£

5




